R
AN 5 £

= 3 H eGP H =

pR g2

3 H 16 [3EN

1
° AI:? et

e
3 AR




T EER®

AEE IS PMOFERRT—MKEHEEFHE (E15)

AERBR
FrER N A
WEE BEF T BFEFEROFEOEMICOVT

K & %F &k GO

EXEIIH BEZERDEEDEMICONT
K & 8l mEF GE)

BEFEIBE BEEFEOREICONT
K % ZR B G




F35E

THSEERET—MRIFARETE (F15) OHE

—H=Et (tr: £ )
Bt B AN R
» %5
x 7 THE AEXhE R oM —_—
Wt PE4 52,900,000 10,774,301 822,700 3,945,244 37,357,755
SAWMETHEGES 608,000 608,000 0 0 0
WERTELE 53,508,000 11,382,301 822,700 3,945,244 37,357,755
1. a0 FIMIRADHOFUERICET S0 608,000

OFHBOIOFIAMNRIIFUIEEHHETE

= mF O A NVAY 7 F AR ECE S DR

608,000 [ :608,000]




